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RTP/RTCP

RTP: Real-time Transport Protocol
RTCP: RTP Control Protocol
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PT encoding audio/video clock rate channels

(packet type) name (A/V) (Hz) (audio)
0 PCMU A 8000 1
2 G721 A 8000 1
3 GSM A 8000 1
8 PCMA A 8000 1
9 G722 A 8000 1
14 MPA A 90000
15 G728 A 8000 1
26 JPEG \Y 90000
31 H261 \Y 90000
32 MPV \Y 90000
33 MP2T AV 90000
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RTCP-RR (Recelver Report)
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Jitter(i) = (Ri,; - R) — (S, = S)

Jitter,, = (1-a) - Jditter,, + a -Jitter(i) (a =1/16)
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SDES (Source Description) (CNAME )
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APP (Application Specific)
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NTP (Network Time Protocol)

() UNIX xntpd Windows:
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